2.Chromatichaos

=84,

Andante .

1

15}
[ fan WA 2 O3

y
&
D)

Piccolo C

T
b
[ fan WL ) 20 O

L)
Y
y 4
A\SV
J

1./2./3. Flote C

A"
{r~— 1 C

1./2. Oboe

)
A w2

Je 1D
b
P

raxy

1./2 Fagott

]
AN ~
3
L "
M L)
AMA? L\AT
3
oI )
e e
| ™ e
e e
EaR e
L pan
Iy ILE
]
AN ~
3
L
e L)
I T
(e L)
5 3
15 )
. e
] e b
e NN\u.i
ERY e
Lt R a
Iy ILE
S
f 2
[}
Na)
= AN ~
s |l e
%a i mei
m En
= e - 17 -
= 13 )
A E I ™
5 = .
5 ki
3 mmu.? smwc
o =
SRR, e
5| L
= e s LY
|5 \B \B
. .
hulm Aunmwd Aunmwﬂ
2 m m
Ec 2 2
< » =
3 2
@
d

B < @
M.

N N o

hunm 5 Aulm 5 nunm 5
« m «
4] 2 3]
= g =
2 4 2
o e [
2 ] 2
I w <
Z g Z
< g g
o & g
= o |

1./2./3./4. Trompete B

C
O

1./2./3./4. Horn F

C
O

Il

y Y
15}
P

ray

1./2./3./4. Posaune

H
g
y .
N

1./2. Bariton B

2.Bass,1Spieler

C
A W2

Il
T

>

WS

raya
)

1./2. Bass
Streichbass

7
M
—~
1 1 !
i
A
1 1 1
-
M
—
1 1 !
i
A
1 1 1
-
o M
=}
“ —
¥
] WoE I
=}
S '
=
A=
Y
|
] ] 1
N B B
L L L
N L —N
(WK (N (WK
0| n’ -
Lm Qo [=]
3 E 2
g £
£ &
Q
v

Congas mit Filzschlegel

-27-



12

11

10

Y
VA
 fan W7 )

I g

=
[ )

F

J OEEn

raxy

L)
Y
y 4
 fan WA )

5
HEN 1
'ANEAl
“\A-
| N
AR\A..
! 1
N
i
AR\A.
.RHAv
i
H\\l
12 |
E hwd [
K. L
Q wly
= 1.
]
ey LHAT
i
[ [1)
- e
P Y
VAR A
TT e
L LT
o e
. L.
N DN

i)

senza D

Harmon Mute
v 2

o { Oy
[T De*

V\ — _/

y 2
PS

— =
o 4

|l B

alle Bésse ,senza Streichbass

D'fp'f

D7D7

Je 1D

raYy

-28-



17

16

15

14

13

[ fan WY
y -y
[ fan WL/
VA4

[ o W7 )
A\SYJ

1./2/3.FlL.
1./2. Oboe

Je 1D
b
P

&)

Ve @

IR

—=
P ——

[ ¥

Ll g ¢

Do
DI

Iy

1Y )

hf
11D
Ll g® LOT
g VT

4

o

I
iir]
I

IAY

o a®

heg be 7]
Ho pe

IAY

I

VA
{rs
y o
N
y 4
N
A\SV
y 1
N
VA4
{rs
V.
{rs
A\SY ]

y o
N
A\SV

1./2.Fag.

Klar.Es
Balklar.
1./2. Altsax.
1./2. Tensax.
Barsax.

1./2./3./4. Klar.B

1./2./3./4. Trpt.

IR

Dva

o TDe

b

14

-29-

- Dva

17

14
14
P

P11
15}
Je 1D

y o
[ fanY
raY
y 1
N
=
)
)

o

1./2./3./4. Hrn.
1./2./3./4. Pos.
1./2. Barit..
1./2. Bass
Str.Bass
K1./Gr.Tr./Beck.
Pk.

Perc.



22

21

20

19

18

Y
VA
 fan W7 )

be
P&

t
@ D@

crescendo

P

b
ge

J OEEn

raxy

L)
Y
y 4
 fan WA )

T 4

—

crescendo

y 2m-L N

[ Dg-

7

|
15}
y 2

— =

— < =

o

crescendo#

Dva

crescendo

D Ty T

Je 1D

raYy

AR

-30-



